
Task Help 
BTEC Chemistry 





Task  (Relative atomic mass) 

Relative atomic mass of 
nitrogen is 14 g mol-1 

Atomic number of 
nitrogen is 14 



Task  (Relative molecular mass) 

Nitrogen exists as a diatomic molecule (N2) 

 

One atom of nitrogen has an Ar of 14 g mol-1 

 

Two atoms of nitrogen have an Mr of 28 g mol-1 (14 x 2) 

 

 Molecule Calculation Relative molecular 
mass / g mol-1 

 
N2  14 x 2 28  



Task 3(Mass / Mr / Moles) Unit 
Conversions 

 
The mass must 
be in grams (g)  



Task  continued 

Mass = Mr x Moles 
 

1. Calculate the mass of 0.25 moles of calcium (Ca) 
 

0.25 mol x 40.1 g mol-1 = 10.025 g 
 

You will need to rearrange the equation to answer some of 
the questions. Use the triangle to help.  



Task  continued 



Task  continued 
Example where the units need to be converted 



Task (Moles / Concentration / Volume) 

Unit 
Conversions 

 
The volume 

must be in dm3 
which is the 

equivalent of a 
litre (L).  

200 cm3 0.2 dm3 

cm3 is the 
equivalent of a 
millilitre (mL). If 
the volume is 
given in cm3 you 
need to convert 
to dm3. 

➗1000 

✖ 1️000 



Task  continued 

Moles = Concentration x Volume 

 

1. A sodium hydroxide solution has a volume of 0.25 dm3 and a 
concentration of 0.5  mol dm-3. Calculate the moles of sodium 
hydroxide. 

 

0.5 mol dm-3 x 0.25 dm3 = 0.125 mol 

 

 

 

 



Task  continued 
Example where the units need to be converted 



Task  continued 

mol dm-3 and M (molarity) 
are the same thing 



Task  continued 



Task  continued 
Example where the units need to be converted 



Task  (Using two equations simultaneously) 



Task  continued 



Task  (Research task) 

Research is very important in Science and makes up quite a bit of the 
BTEC Coursework.  

 

Base your research on the questions that I have provided. This does 
need to be in quite a bit of detail.  

 

You can present your research how ever you like.  



Task (Titration calculations) 

You will need to use this equation 

 

Moles = Concentration x Volume 

 

 



Task  continued 



Task  continued 

3. Look at the ratio of NaOH to HCl (You need to look at the numbers in 
front). If there is no big number in front. It is 1. 

 

1:1 ratio of NaOH to HCl 

 

Therefore there are 0.025 moles of HCl 

 

*If the ratio is different you will need to multiply or divide the number 
moles 



Task  continued 


	Task Help�BTEC Chemistry
	Slide Number 2
	Task  (Relative atomic mass)
	Task  (Relative molecular mass)
	Task 3(Mass / Mr / Moles)
	Task  continued
	Task  continued
	Task  continued
	Task (Moles / Concentration / Volume)
	Task  continued
	Task  continued
	Task  continued
	Task  continued
	Task  continued
	Task  (Using two equations simultaneously)
	Task  continued
	Task  (Research task)
	Task (Titration calculations)
	Task  continued
	Task  continued
	Task  continued

